FANMASTER

USER INSTRUCTIONS

ICH2P
INDUSTRIAL QUARTZ RADIANT HEATER
AC230V 50Hz 2000W IPX4



1. FUNCTION OVERVIEW

Thank you for choosing our quartz radiant heater. We hope that you will enjoy using this product. To
improve your enjoyment of the product, you should read through the user manual carefully and keep it for
future reference.

© N O~ ®®DNPRE

e e el
O b WNPR O

Heating element

Knob

Housing

Heat setting selector (level 0-4)
Cord

Screw cap for height adjustment
Upper post assembly

M5 X 10 screws (QTY 3)

Middle post

. M5 X 10 screws (QTY 3)
. Lower post assembly

. Power cord

. Base (cover)

. M6 X 30 screws (QTY 4)
. Foot plate/base

The following parts accompany the patio heater:
A bag of accessories with 6x M5 X 10 screws and
4x M6 X 30 screws

Operation: e
You can turn the heater on and off by pulling the L
cord (5). Any gentle vibrations that occur when you -
turn on the heater will stop within a few seconds.

-Position 0: OFF

-Position 1: 650W (normal power)
-Position 2: 1,300W (normal power)
-Position 3: 2,000W (full power)

The quartz radiant heater is also equipped with a safeguard device, which turns the heater off if it is
knocked over.



1)
2)
3)
4)

5)
6)

7
8)

9)

. SAFETY INSTRUCTIONS

Read all instructions before using this heater.
Never touch the heater when in operation (risk of burns).

Never touch the heater with wet hands.

Never place anything on the heater’s hot surfaces as this may cause overheating (e.g. towels)

-After use
-In the event of malfunction
-Before cleaning it.

WARNING: Ensure the heater is not located directly below a mains power socket outlet
Do not use the heater with a programmer, timer or any other device that switch the heater on

automatically.

Do not use this heater in the immediate surrounding of a bath, a shower or swimming pool.

If the power cord is damaged, it must be replaced by the manufacture or its service agent or a fully
qualified electrician in order to avoid a hazard.
This appliance is not intended for use by persons (including children) with reduced physical, sensory
or mental capabilities, or lack of experience and knowledge, unless they have been given
supervision or mental or instruction concerning use of the appliance by a person responsible for their

safety.

10) Children should be supervised to ensure that they do not play with the appliance.

11) WARNING:

In order to avoid overheating, do not cover the heater

12) WARNING: This heater is not equipped with device to control the room temperature, do not use this

heater in small rooms when they’re occupied by persons not capable of leaving the room on their own,

unless constant supervision provided.

3. INSTALLATION
~
(111]
r [{_ Uppar Post Assambly
Power Cord
3-M5°10
' l 1 3-M5*10
4- M6*30 Screw
Lower Post Assambly I Middle Post
- Lower Post Assombly 1
3 Power Cord
, e
Base Assembly e 2
. p— 5 ~ J —
- = =
5 (\_\‘ Base Assembly
1 { \_ ’ .

Insert the lower post assembly (11)
Into the foot plate/base (15) and
secure it using 4x M6 X 30 screws

(fig.1)

Secure that the lower post
assembly (11) and the middle
post (9) using 3 x M5 X 10
screws

Secure the upper post assembly
(7) and the middle post (9) using
3x M5 X 10 screws (fig.3)

(fig.2)



X\, Heafing Element Assenbly

E- A Tube cover

|__Upper Post Assembly

Power Cord
Middia post _

Lower Post Assembly

4 \ K __/’  Basa Assembly

Attach the heating element (1)
to the upper post assembly (7)
and secure it by tightening the
button (fig.4)

4. WARRANTY

Any claim under this warranty must be made within 12 months of the date of purchase of the product. To
make a claim under the warranty, take the product (with proof of purchase) to the store where you
purchased the product or contact Fanmaster Pty Ltd.

Fanmaster Pty Ltd will pay your reasonable, direct expenses of claiming under this warranty. You may
submit details and proof of your expense claim to Fanmaster Pty Ltd for consideration.

This warranty is given by Fanmaster Pty Ltd

ABN: 45 353 934 457

Unit 1/6-8 Yalgar Rd, KIRRAWEE NSW 2232

P: 02 9524 9999

E: info@fanmaster.com.au

This warranty is provided in addition to other rights and remedies you have under law: Our goods come
with guarantees which cannot be excluded under the Australian Consumer Law. You are entitled to
replacement or refund for a major failure and to compensation for other reasonably foreseeable loss or
damage. You are also entitled to have the goods repaired or replaced if the goods fail to be of acceptable
quality and the failure does not amount to a major failure.



5. SPECIFICATIONS

Output (W) 2000
Reflector heater N
Electro-galvanized steel head N

Quartz heating element N

IP classification IPX4
Voltage (V) 230V~
Approvals SAA,CE,GS

CORRECT DISPOSAL OF THIS PRODUCT

This marking indicates that this product should not be disposed with other
household wastes throughout the EU. To prevent possible harm to the
environment or human health from uncontrolled waste disposal, recycle it
responsibly to promote the sustainable reuse of material resources. To return
L your used device, please use the return and collection systems or contact the
retailer where the product was purchased. They can take this product for
environmental safe recycling.




